
3.2D Possible Solution 
 
(A) 56,434 > 56,424 

 

It might help to look at the numbers arranged vertically in a place value 
chart in order to correctly identify the difference between them.  

 
 
 
In this case, only the digit in the tens place is different. Since 3 tens is greater 
than 2 tens, then 56,434 is greater than 56,424. Therefore, we choose to use 
the greater than symbol, >, since the lesser number is listed after the greater 
number. 

5  6,  4  3  4 

 

 

 

5  6,  4  2  4 

 

 

 


